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N RE
Epat REH(N) BIEEEE (%) | IRIMFEHR(RE) | BIELE (%) FIREG) BIEFIAZE®)
JAL-JTAY IL—TJ & E 238,807 66.4| 543,098 83.0 44.0 55.0
REN JAL 116,431 69.9] 250,772 80.9 46.4 53.7
JTA 93,684 60.5] 244530 85.4 38.3 54.0
RAC 27,560 74.2 45,300 82.4 60.8 67.5
JAC 1,232 86.9 2,496 85.2 49.4 484
= R

B B REH(N) | BIEL %) | REERGE) | BIEL®) FIFRE %) BTEFIRE %)
FIH=A1% JAL/JTA 83,063 61.3| 167,806 68.3 495 56.2
FRR=3% JAL 15,061 48.7 42,531 66.1 3b.4 48.1
BTa =3 JAL/JTA 4,786 57.3 16,869 75.2 28.4 37.3
fafE = JTA 17,191 83.2 37,785 89.1 455 48.7
PH=FRE JAL/JTA 12,343 95.3 27,108 130.1 455 62.2
PH=E4H JAL/JTA 6,862 78.3 13,618 125.1 50.4 80.5
PH=AKE JAL 1,795 97.1 3,630 75.9 49.4 38.6
M =5a1E JTA 3,117 65.8 9,240 90.3 33.7 46.3
==t JTA 3,402 - 9,075 - 375 -
i =018 JTA 1,508 - 8,910 - 16.9 -
PR =E JTA 1,330 - 9,240 - 14.4 -
H &R = AR JTA 9,156 58.2 30,625 98.4 30.0 50.7
i 1L =AR 2R JTA 1,722 67.0 7,260 71.0 23.7 25.1
INR=FFR JTA 1,391 154.2 4,950 160.0 28.1 27.3
MBE="EXKE RAC 477 97.0 1,400 93.3 34.1 32.8
MBE=5 RAC 2,302 97.4 2,700 75.0 85.3 65.7
MF; =k RAB JAC 1,232 86.9 2,496 85.2 49.4 484
Ry ERET 166,738 674] 395,143 83.3 42.2 52.1
BE==1 JTA/RAC 27,094 575 57,315 79.9 47.3 65.7
MBHE=H1E JTA/RAC 22,038 66.3 49,840 84.4 442 56.3
BHE=AKXE JTA/RAC 9,782 69.9 18,650 84.1 525 63.1
BHE=FAKEK RAC 2,057 76.9 3,850 89.5 53.4 62.2
MBEA=ILKE RAC 926 80.0 1,350 90.0 68.6 771
ARHE=5AE RAC 1,284 65.6 2,650 85.5 485 63.1
BEha=%RHM RAC 1,968 67.3 3,600 78.3 547 63.5
BAAR=IEKAE RAC 780 75.2 1,250 83.3 62.4 69.1
RiE=5RE RAC 3,695 82.5 5,650 94.2 63.6 72.6
Bo=hi8 RAC 2,545 67.2 3,800 62.3 67.0 62.1
RAHRET 72,069 64.2] 147955 82.2 48.7 62.4
EHRIREE 238,807 66.4] 543,098 83.0 44.0 556.0
T EHRR S A 0 0.0 0 0.0 - 515
ES A= 238,807 66.4] 543,098 83.0 44.0 55.0
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BEPE =3B JTA 71 68.5
faltl = A 2H JTA 320 99.7
PFH=R"1E JAL/JTA 314 151.3
PH=BG JAL/JTA 156 164.8
FH=AXKE JAL 9 252.4
R =H1E JTA 75 1125
=1 JTA 7 -
hEf=H1iE JTA 24 -
hEH==4 JTA 2 -
hER=FRER JTA 155 78.6
] LU =3B ER JTA 27 99.9
IND =P JTA 1 9.0
MFE="EXXE RAC 2 185.8
MEFE=5 RAC 1 40.8
B ERET 1,164 112.7
MBE=E=d JTA/RAC 582 68.4
MEH=H1E JTA/RAC 527 80.4
MBE=AKE JTA/RAC 137 129.8
MBE=FKK RAC 18 64.4
AMEBF=1t K&K RAC 7 46.0
AEH=5BE RAC 14 104.9
BEGa=%EfM RAC 16 90.1
FAARE=IXKE RAC 4 39.0
AiE=5E RAC 31 104.8
BEa=HiE RAC 26 105.0
B NERET 1,362 77.8
EHARRIR & &L 2,526 90.8
T EHRBEEE 0 -
SRS ET 2,526 90.8
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